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Q1/ What are the relation between these terms: (Direct proportional/ indirect proportional)    10M
	1
	Molarity
	–
	Osmotic 
	( ……………………...……)

	2
	Solute concentration
	–
	Water potential of a solution
	( ……………………...……)

	3
	OH, CHO
	–
	Permability
	( ……………………...……)

	4
	PH
	–
	Permability
	( ……………………...……)

	5
	Oxygen concentration
	–
	Absorption
	( ……………………...……)

	6
	Carbon chain
	–
	Permability 
	( ……………………...……)

	7
	Solute concentration
	–
	Diffusion
	( ……………………...……)

	8
	Volume of solvent
	–
	Osmotic pressure
	( ……………………...……)

	9
	Equivalent
	–
	Permeability of ions
	( ……………………...……)

	10
	Transpiration
	–
	Absorption
	( ……………………...……)


Q2/ Choose the correct answer)
10M
	1.
	Root pressure is most occur when 

	
	A. soil water pressure low
	B. transpiration high
	C. humidity is high

	
	
	
	

	2
	The plasma membrane in the cell is

	
	A. semi-permeable membrane
	B. Differential permeable membrane 
	C. permeable membrane

	
	
	
	

	3
	Casperian strips in endoderm block the path way of 

	
	A. Apoplast
	B. Symplast
	C. Apoplast and Symplast

	
	
	
	

	4
	Precipitation or formation white component of AgCl3 proof to the presents of

	
	A.starch 
	B. Cl
	C. I2

	
	
	
	

	5
	The plant cell swelling if put in

	
	A. Isotonic solution
	B. Hypotonic solution
	C. Hypertonic solution

	
	
	
	

	6.
	The  positive ions more readily and quickly pass  through the lipid membrane than the

	
	A. Ca+2
	B. Na+1
	C. Fe+3

	
	
	
	

	7.
	Occurrence the active group such as: SH, COOH, OH, NH2 in the compounds lead to 

	
	A. Less Polarity
	B. Less permeability
	C. Less solubility

	
	
	
	

	8.
	Inhibition the permeability of an Ion to the cell by another Ion called:

	
	A. Antagonism
	B. Synergism
	C. Sym plast

	
	
	
	

	9.
	The structures used by gymnosperm plant to transport and regulate water movement:

	
	A. Tracheid-stomata
	B. Xylem – Stomata
	C. Vessels – Stomata

	
	
	
	

	10.
	The movement of the solvent across semi permeable membrane from high concentration zone to the lower concentration zone called:

	
	A. Permeability
	B. Diffusion
	C. Osmosis



Q3 /wright name of each of the following tests, what happen and why?
1-
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2- Cuts of stalk Castor-oil plant leaves put in different concentration of NaCl solution:
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3-
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